Dating: Listening comprehension activity
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Millennials have problems dating because :
a. Nowadays due to a hectic life people don’t have time to go out a lot
b. People are generally more likely to distance themselves from strangers
c. People do not want to flirt with strangers
Flirting has changed:
a. And you need a special training in various apps to be successful
b. Because it is no longer intimate
c. Because apps are addictive, so people spend too much time on the phone at the
expense of a real conversation
The basic idea behind Tinder according to the video is:
a. tobeable to find a romantic partner from the comfort of your couch
b. To keep using it in order to get as many partners as possible
c. To keep using the app for whatever reasons
Dating is different than before
a. Because people are less likely to chat people up in real life
b. Inthe past people paid more attention to their surroundings when looking for a
partner
c. Technology has impaired our skills to observe the surroundings
People’s priorities have shifted
a. Which was affected by the “stranger danger” philosophy while millennials were
growing up
b. People are more career-oriented now
c. People do not to get married any more
Dating has always been difficult in the USA:
a. Because of cultural, ethnic and religious diversity
b. But now it’s even harder because we overly rely on technology
c. But we face different problems than in the past



